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1. Which of the following molecules or structures does not participate directly in
translation?
{A) ribosomes
{B) transfer RNA
(C) messenger RNA
{D)DNA
(B} ATP
2. Which phase of meiosis has the physical basis of Mendel's principle of
independent assortment?
(A) The orientation of homologous chromosome pairs in metaphase 1
(B) The separation of homologous chromosomes in anaphase i
(C) The orientation of sister chromatids in metaphase I
(D) The separation of sister chromatids in anaphase Il
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3. Thbe characteristic that distinguishes echinoderms and chordates from other animal
phyia is that echinoderms and chordates
{A) exhibit bilateral symmetry. {C) are protostomes.
{B) are deuterostomes. {D) are triploblastic.

4. Which event occurs after the second heart sound and before the next first heant sound?
{A)ventricular contraction
(B) ventricular relaxation

(C} semitunar valves open

(D) zortic systolic pressure

S. Which part of the brain sorts incoming information into categories (such as touch
signalg from a finger) before relaying H to the cerebral cortex?

(A) Hypothalamus {D) Pons
(B} Thalamus ' {B} Basal ganglia
{C) Hippocampus

6. How does a steroid hormone cause different effects in different cells?
{A) by binding to different receptors on cell membrane
{B) by activating different second messengers
(C) by acting on different organelles
{D) by activating different genes
{E) by activating diiferent snzymes

7. In the inflammatory response, the absence of which of the following events
would prevent all the others from happening?
{A)leakage of plasma to the affected arca (D) release of histamine
{B) increased permeability of biood vessels {E} dilation of artericles
(C) increased population of phagocytes in the area '

8. A cat leamns to come running into Kitchen when it hears the electric cane opener.
This response is an example of

{A) operant conditioning (D) sensitization
(B} habituation {E) insight leaming
{C) classical conditioning
9. In ecosystems, the flow of is one-way, while are constantly cycled.
{A} minerals ... energy {D) food... energy
(B) organic compounds ... minerals (E) minerals ... food

{C) energy ... materials
10. All of the following respiratory surfaces are associated with capillary beds EXCEPT the
{A) alveoli of lungs. (D) gills of fighes,
- (B} skin of earthworms. {E) skin of frogs
{C) tracheae of insects.
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